Subject: IDL widget question
Posted by sullivan on Fri, 21 Aug 1992 20:19:20 GMT

View Forum Message <> Reply to Message

Can anyone outline the widget calls to display a symmetric
2D table of buttons like the following ?

| want all buttons in a column to be the width of the widest button, and
all the buttons/labels/text widgets in a row to be equal height.

| can get the rows to align, or the columns to align, but | can't get
them both to align. (The button names are different lengths.) I get
something like :

|BBJ [B| [BB|
|BBB| |B| |BBBB]|
Thanks, Dan
Dan Sullivan # Laboratory for Terrestrial Physics (STX)
# Code 920.2

sullivan@gorgo.gsfc.nasa.gov # NASA-Goddard Space Flight Center
# Greenbelt, MD 20771
# voice: (301) 286-2484
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